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Book Equation Sheet Allowed

Problem 1:  Circle the best answer for the following questions:

1.  Current consists of :


a. the force in a circuit.


b. the flow of charges.


c. the resistance in ohms.


d. the flux.
2.  Inductors of 3 H and 4 H in series :


a. totals 0.75H


b. totals 1.08H


c. totals 7 H


d. totals 12 H
3.  The principle of superposition means a circuit can be solved:


a. for each source 
 
    independently.


b. using MESH analysis only.


c.  like a bridge circuit.


d. using the delta-Y 
 
     transformation.



4.  The Norton equivalent circuit consists of:


a.  a capacitor and voltage 
 
     source.


b.  an inductor and voltage 
     source.


c.  a voltage source and 
 
     resistor.


d. a current source and 
 
    resistor.


5.  A 20 k resistor with a 800 A current dissipates :


a. 12.8 mW


b. 16 W


c.  1.28 W


d.  1.6 mW
6.  Permittivity () is used to describe a materials:


a.  resistance property.


b. magnetic property.


c. inductance property.


d.  capacitance property.

7.  A 0.5 F capacitor charged to 1200 volts stores :


a.  0.36 Volts


b. 0.36 Watts


c. 0.36 Joules


d. 0.36 Amperes


8.  Ohms Law is:


a.  V = I/R


b.  I = VR


c.  R = V/I


d.  V = R/I
9.  Two 0.04 F capacitors in parallel are equivalent to:


a.  0.02 F


b.  0.08 F


c. 0 .016 F


d.  0.04 F

Problem 2:  For the following capacitor circuit the switch closes at t = 0.  Answer the questions which follow:
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(a)  What is the time constant?

(b)  What is the current through the capacitor after 0.4 seconds?

(c)  At what time does the voltage across the inductor reach  35 volts?
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Problem 3:  For the following circuit, the switch has been in position a for a long time.  At t = 0 the switch moves to position b.  Answer the questions which follow.

(a)  What is the current through the inductor before the switch moves to position b?

(b)  After the switch moves to position b, what is the time constant?

(c)  What is the current through the inductor after 2 ms?
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Problem 4:  Given the following magnetic circuit.  It is desired to have a flux of  = 3 x 10-5 Wb.  Answer the questions which follow.

(a)  What is the magnetic flux density, B, in the sheet steel and the cast steel? 

(b)  What is the magnetic field ,  H, in the sheet steel and the cast steel?

(c)  What number of turns will create the desired flux?

[image: image4.wmf]N

I

=

0

.

0

5

A

A

r

e

a

=

7

.

8

5

x

1

0

m

-

5

2

l

=

3

c

m

l

=

6

.

4

c

m

C

a

s

t

S

t

e

e

l

S

h

e

e

t

S

t

e

e

l

Problem 5:  Set up the equations to solve the following circuit using NODAL, I said using NODAL!!!  do not solve the equations just set them up.  
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Problem 6:  Find the Thevenin equivalent circuit of the following circuit between terminals a and b.  (hint:  use Mesh to find the Thevenin voltage) 
Problem 7:  How many feet of #30 AWG copper wire is needed to have a resistance of 103 ?  The wire diameter is 0.0102 inches and copper has a resistivity of   = 10.37 -CM/ft
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